

On the 2nd Bianchi identity

Gerhard W. Bruhn, Darmstadt University of Technology

Nov 27, 2008

Though the Cartan version of the 2nd Bianchi identity

$$(1) \quad \mathbf{D} \wedge \mathbf{R}^a_b := \mathbf{d} \wedge \mathbf{R}^a_b + \omega^a_c \wedge \mathbf{R}^c_b - \omega^c_b \wedge \mathbf{R}^a_c = \mathbf{0} .$$

is well-known in literature [1, p.93 (3.141)], [2, p.489 (J.32)], [3, p.208 (C.1.69)], [4, p.123 (4,127 b)] there are also publications [5, p.13] where this result is doubted with the remark that "the torsion is missing incorrectly". The author of [5] believes that (1) is valid only for the *symmetric* Levi-Civita connection. Therefore we repeat here the simple algebra proof of eq. (1) for general torsion from literature:

Proof of the 2nd Bianchi identity (1)

The curvature form is defined by

$$(2) \quad \mathbf{R}^a_b = \mathbf{d} \wedge \omega^a_b + \omega^a_c \wedge \omega^c_b .$$

Due to the Poincaré Lemma on exact differential forms we have

$$(3) \quad \mathbf{d} \wedge (\mathbf{d} \wedge \omega^a_b) = 0$$

to obtain by applying the Leibniz rule:

$$(4) \quad \mathbf{d} \wedge \mathbf{R}^a_b = \mathbf{d} \wedge (\mathbf{d} \wedge \omega^a_b + \omega^a_c \wedge \omega^c_b) = 0 + \mathbf{d} \wedge (\omega^a_c \wedge \omega^c_b) = \omega^c_b \wedge \mathbf{d} \wedge \omega^a_c - \omega^a_c \wedge \mathbf{d} \wedge \omega^c_b$$

On the other hand we may conclude:

$$(5) \quad \begin{aligned} \omega^a_c \wedge \mathbf{R}^c_b &= \omega^a_c \wedge (\mathbf{d} \wedge \omega^c_b + \omega^c_d \wedge \omega^d_b) \setminus \\ \omega^c_b \wedge \mathbf{R}^a_c &= \omega^c_b \wedge (\mathbf{d} \wedge \omega^a_c + \omega^a_d \wedge \omega^d_c) / \end{aligned} \Rightarrow \omega^c_b \wedge \mathbf{d} \wedge \omega^a_c - \omega^a_c \wedge \mathbf{d} \wedge \omega^c_b = \omega^c_b \wedge \mathbf{R}^a_c - \omega^a_c \wedge \mathbf{R}^c_b ,$$

hence

$$(6) \quad \mathbf{d} \wedge \mathbf{R}^a_b = \omega^c_b \wedge \mathbf{R}^a_c - \omega^a_c \wedge \mathbf{R}^c_b ,$$

or by introducing the exterior derivative $\mathbf{D} \wedge \mathbf{R}^a_b$

$$(7) \quad \mathbf{D} \wedge \mathbf{R}^a_b := \mathbf{d} \wedge \mathbf{R}^a_b + \omega^a_c \wedge \mathbf{R}^c_b - \omega^c_b \wedge \mathbf{R}^a_c = \mathbf{0} .$$

References

- [1] S.M. Carroll, *Lecture Notes on General Relativity*,
http://xxx.lanl.gov/PS_cache/gr-qc/pdf/9712/9712019v1.pdf
- [2] S.M. Carroll, *Spacetime and Geometry*,
Addison Wesley 2004, ISBN 0-8053-8732-3
- [3] F.W. Hehl and Y.N. Obukhov, *Foundations of Classical Electrodynamics - Charge, Flux, and Metric*,
Birkhäuser 2003, ISBN 0-8176-4222-6
- [4] W.A. Rodrigues Jr. and E.C. de Oliveira, *The Many Faces of Maxwell, Dirac and Einstein Equations*,
Lecture Notes in Physics 722, Springer 2007, ISBN 978-3-540-71292-3
- [5] M.W. Evans e.a., *VIOLATION OF THE DUAL BIANCHI IDENTITY BY SOLUTIONS OF THE EINSTEIN FIELD EQUATION*,
<http://www.atomicprecision.com/blog/wp-filez/acriticismsoftheeinsteinfieldequationchapter4.pdf>